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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

27+ 78+12=

39+51+65=

54 +95+49=

79+28+95=

56 + 14 + 52 =

23+46+29=

49+10+35=

49+ 15+21=

22+85+50=

62+ 17+43 =

92+41+58=

85+63+71=

72+20+72=

33+51+79=

Answers

10.

11.

12.

13.

14.
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ﬂh Three Addends (2 Digit) Name._Answer Key

Solve each of the problems. Answers
1) 27+78+12= 117 117
1.
2) 39+51+65= 155 2. 155
3, 198
3) 54+95+49= 198
4. 202
4 79+28+95= 202 5 122
6. o8
5 56+14+52= 122
7, 94
6) 23+46+29= 98 . 85
0, 157
7) 49+10+35= 94
10. 122
8 49+15+21= 85 . 191
9 22+85+50= 157 12, 219
13 164
10) 62+ 17+43= 122
14, 163
11) 92+41+58= 191
12) 85+63+71= 219
13) 72+20+72= 164
14) 33+51+79= 163
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C:E Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

122 122 85
155 98 198

117
94

157
202 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

2/ +78+12=

39+51+65=

54+ 95+ 49 =

719+28+95=

56+ 14 +52 =

23+46+29=

49+10+35=

49+ 15+21=

22+85+50=

62+ 17+43=

10.

C

M odified
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